
Quest ce que le cadeau  D' - ? ( )Quel nombre se trouve dans chaque cadeau?
22 + 96 = 97 + 86 = 80 + 48 =50 + 28 = 26 + 60 = 48 + 9 =12 + 51 = 36 + 65 = 86 + 58 =87 + 48 = 35 + 86 = 96 + 19 =98 + 75 = 69 + 29 = 49 + 83 =87 + = 91 54 + = 68 53 + = 11629 + = 78 84 + = 179 26 + = 6480 + = 114 19 + = 115 13 + = 4773 + = 146 64 + = 81 38 + = 6690 + = 163 50 + = 127 93 + = 169+ 97 = 175 + 98 = 120 + 27 = 91+ 45 = 73 + 31 = 63 + 38 = 61+ 28 = 123 + 10 = 58 + 37 = 126+ 18 = 23 + 81 = 121 + 34 = 99+ 33 = 38 + 54 = 148 + 83 = 162
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Quest ce que le cadeau  D  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
22 + 96 = 118 97 + 86 = 183 80 + 48 = 12850 + 28 = 78 26 + 60 = 86 48 + 9 = 5712 + 51 = 63 36 + 65 = 101 86 + 58 = 14487 + 48 = 135 35 + 86 = 121 96 + 19 = 11598 + 75 = 173 69 + 29 = 98 49 + 83 = 13287 + 4 = 91 54 + 14 = 68 53 + 63 = 11629 + 49 = 78 84 + 95 = 179 26 + 38 = 6480 + 34 = 114 19 + 96 = 115 13 + 34 = 4773 + 73 = 146 64 + 17 = 81 38 + 28 = 6690 + 73 = 163 50 + 77 = 127 93 + 76 = 16978 + 97 = 175 22 + 98 = 120 64 + 27 = 9128 + 45 = 73 32 + 31 = 63 23 + 38 = 6195 + 28 = 123 48 + 10 = 58 89 + 37 = 1265 + 18 = 23 40 + 81 = 121 65 + 34 = 995 + 33 = 38 94 + 54 = 148 79 + 83 = 162
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